Math 121-002, Quiz 3, Spring 2010, Real Name[Spts]:

No graphing calculators or electronic communication of any kind. Credit will be awarded far correct content and clarity of presentation. This
guiz has 100 required points and 10 bonus. Try to at least attempt each part. Please clearly box or eirele vour answer in each guestion,

1.[5pts] {section 2.2] Find the domain for the 5.[10pts] [section 3.1] Write the eguation of a
function. quadratic function whose graph has vertex
, {(—2,3) and passes through the point (0, 13).
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2.[5pts] [section 2.3] State the domain and Va — A ()( t+ a_) + 3

range of the graphed function.
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in Pwi‘s“ — clovn (-(:J =1 C‘S) circle the function which has a matclli:mg graph.
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3. [10pts] Find the equation for the line passing T ; -
through {1,0) and {2,3). Please leave your A f\\/\ : /‘\
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(Lbe)=> 0 = m+b = m=-b
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7.[5pts][section 3.3] Does the function
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4.[5pts] [section 3.2] Write a formula fora flz) = 33213 — 2022 - 11z — 2 have (z — 1)
polynomial function f(z) having zeros at as a factor? Justify your answer either by a
r=1273 Theorem or by an explicit algebraic calculation.
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8.[10pts] Completely factor (over R} the
following polynomials:
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9.[10pts}{section 3.4] Compietely factor
f(z) = z* + 55% + 722 + 5z + 6 given that
flz)hasazeroatz =1=+/-1.
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10. [ 10pts] Solve the following inequality. 3
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11. [ 10pts] Solve the following inequality.
Justify your answer either with a sign chartas |
used in lecture, or with a table as shown in the
textbook. Remember to neatly box your
answer.
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12. [10pts] What explicit numerical values for
A, B that make the equality below true ?
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13. [ 5pts] Give a formuia for a rational function
which has zeros at 3 and 7, a vertical asymptote
atx=4 and a hole in the graph at (2,0). Also,
choose your example so that the range of the

—--funetion-includes no- negative numbers.-
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